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Q.1 RUY 3R Hhara fohche TR achedal § 1< §1 TigH 3R U fhdhe 3R Feara d o< gl

Ans

Taw 3R Fera gieht iR archeater d o= §| afe , e ok Alg= dqaie ik Feard | s

&1 Fr=fafla § @ = a1 wu= ad@ @i 82
/X 1. 1w Gesifer, i, aTehesTe 3R dgsilel & sres 81

x 2. ¥ fehche, peala ok ahedid | o<l 8
75 3. e fodhe, BRT o aTahesifer & areeT 21
of 4 TR geals, g ok dgate & ores 1

Question ID : 5459275871

Q.2

Ans

A Ry g usr f o FUA R 39 918 39 HY W Ra o ey Ry e &1 e g
HYAT Y TE HH, TR ITH G A1 a4 @ fA=ar gt goft A ug ik R RuffRa &R

g g e & fAsed, g g =l & suR wR gfeea €1

HY:

I. o A AR &
II. 9t 9 e €1
. 9ft A1 T &1

A

I. 5 @y 4R« &1

Il. o Gfd= A= §1
1. Fft AT Ferw &1

75 1. Sharer e || SER0T SRl R
of 2. 3 s | @ 11 srgeRr R &
75 3. 3 foreend | e 1| SrgeRor o €1
75 4. e i || SER0T SRl &1

Question ID : 5459275877 ]

Ans

Q.3 f=fafae v d Ry 7y Rweat § | v ereg g &) gfgl

of 1. srarer: g
X 2.0 wiE
/X 3. @




X 4. fdbe < R

Question ID : 5459275864

Q.4 fF=fafda us d g 7g Rl & § H&fda sieri @t gl
ITSK: MVUN :: APOC : ?
Ans  of 1 ERQF
/5 2.DQRH
/< 3.EQRG
/5 4.DRQH

Question ID : 5459275867

Q.5 F=fafde el i eregantar & o aret od & srgaR ford|

1. Definetely

2. Defined

3. Defeat

4. Decomposed
5. Defame

Ans 145312

o 2. 45321
/< 3.42135
/X 4.42513

Question ID : 5459275859

Q.6 ©g a@fwh 01, 02, 03, 04, 05 3R 06 &g Fi 3R T& Hch Tah TR AW & & - fifg 35 &1 06
3R 04 & oftar & haet 05 da1 81 06 3R 01 & =i # Faet 02 d=181 03, 05 & arff 3R gTERT B
frafaf@a 9 @ = 9@ s ad 8/8?

1. 01, 03 & ¥ i 1R & da1 &1

1. 01 3R 06 & = Sharer 02 & AT B
lll. 05, 02 & =t 3R g@RT =1 &1

IV. 04, 05 & ga arfi 3k &1 81

Ans X" 1 aae Il SR IV
X 2. Faw v
/X 3. &=l SR IV
o 2 Fa 1RV

Question ID : 5459275875

Q.7 U URAR & ©: U wie f@=ar & g g dfes & 43 1 &2ra ofik 9w & g 7 dhae orcfq
a1 &1 wifge ofir A7 AR = &3 &1 A7 ofik 9 & ftw d i 7 o1 &1 G el doT 82

Ans  off 1 e ok HifRa &
25 2.4 ok orefA &
#< 3. 7R o el &
/X 4. @ 3R e & o

[ Question ID : 5459275872




Q.8 fAmfafae usr A & wd sjtaen 7 @ g sick 7@ HifSiwl
0, 6, 24, 60, 120, ?
Ans X" 1180
/X 2.240
W 3210
/X 4.200

Question ID : 5459275878

Q.9 fm=fafae ver d Ry 7y Rereat & | fww 2z 6l gfAw
Ans  of 1 Tw

X 2.7

75 3. ureme

X 4.4t

Question ID : 5459275862

Q.10 ek fafre sle wmar &, ‘ARMY’ <Rl 171’ foram STt &, ‘EYES' <Rl 162’ forar STt 81 39 &S
AT § ‘ALSO’ <hT IS T @2

Ans X 1.139
o 2141
/X 3.151
/X 4.106

Question ID : 5459275869

Q.11 Uk fafdre srte v &, ‘spidY &l ‘e’ gt STrat €, ‘e’ R ‘et hgl STt &, ‘het®’ &l ‘B’
HgT ST &, "R &t ‘&I’ hgl ST 8, TIfReeh’ ol ‘g’ ahgl SiTat g1 fora™ & g g7 o
UGN e &7

Ans (‘].qﬂq
75 2. e

/X 3. it
X 4w

Question ID : 5459275868

Q.12 f&ar, Rar @ sté 21 fhek, Rar @ sier & afe fQar @ aer 21 miam, A= sik Rar =i S agr g1
R, e & Bt @1 37 uig afhal d & R 9ed Sl i 8?

Ans X1 R
o 2. i

75 3. R
p S RC

Question ID : 5459275874

Q.13 PQ,R, S, TRUBETE&1Q, PR T g, afFaSA BB T PABIEdIRIRUTSaA&IP,
R ¥ 81 21 Q, U & o<t &1 Fmfaifla # & ol 91/& svue wdt /87




.Q RATIRI
I.PUIBETE gl

ll.R, S &I

IV. T, Bg dg-il & 9ad aid T 21

Ans X710 eR N
25 2. 18R
o 3150

75 48RV

Question ID : 5459275873

Q.14 = 3y 70 usr A o FUA 3R IS¢ 1€ I HUAT WR TR Fo fFArswef fg o 1 Ry g
HYA] it et A, TG ITH =T A1 a2l & fzar gt aft e ug oz fve RraffRa = for
g g = | Fsrdd, R g s & suR wR giteeTa &1

R
1. 9oft YT A< &1
Il. T e HiAT &l

fArsent:
|. 5 AT FeA &1
II. 9aft e A1 &1

Ans X" 1. 2T frehe | g | SER0T A E
7< 2. g off Frsehe srgereor = chear @
7K 3. Shae e || SER0T ahRal 21
o 4. e frea | srgERoT @ 21

Question ID : 5459275876

Q.15 Qe 3igeRd far man 8, oiwd | ues ug era 81 g e et & @ 39 i ug & gfRgl

EHJL, HJMN, KLNP, NNSR
Ans &1 HIMN

75 2.NNSR
#< 3.EHJL
o 4 KNP

Question ID : 5459275860

Q.16 Fr=faf@a usr & 3y g el 7 9 H&6fda gt &t gfhg)
e aeaie: ?
Ans x 1. 3l
X 2.

W 3 ufn
/X 4. wwrd

Question ID : 5459275866

Q.17 Qe 3rgerd e man &, e @ ges ug g 81 fiw g fAereui A & ag 9t faerey gfag, st
STIehH Tl GRT |

A6, D8, G10, J12, ?




Ans "1 N14
o 2. M4
/X 3.N16
X 4.M16

Question ID : 5459275861

Q.18 Uak fafare srte wmar &, ‘MEDIUM' &Rt ‘PBGFXJ’ for@t SiraT &1 39 sht€ uTuT & ‘WHITES' &1 shis
T d?

Ans X 1 ZELQHR
/< 2.ZFLQHP
/X 3.ZFLQHR
o 4 zELQHP

Question ID : 5459275870

Q.19 PR wer R e Rrared 3 @ w2z g a7 7R
afgyor: fam 2 ?
Ans X1 gwR:ufdm
X 2. SR e
/X 3. Rneitum : ge
W 4w g

Question ID : 5459275865

Q.20 = 3y g usr A, AR s1er g Ry g &1 () & arfi ok A 72 e1er (-) & A ok A ™
31eR Y foreft a<h/Rom/dey @ Gafda &1 9 I ver ad/Ram/ddy & snuRr R gu= 81 ke
g fareat # @ faww &t gfgl

Ans X 1.ST - XY
X 2.DE-1
o 3.NO-TS
/X 4.1J-NO

Question ID : 5459275863

Section : Mental Ability2

Q.1 TUM TR & 64 B g1 bl 1Y A SIS Yeh 31T 97 971471 7T 21 39 319 94 Y aft erepl
ot AT T/ T T 21 fha 81 u=l il v @ W Tk Beleh o1t 91 § Sft mft &2

Ans X" 160
X 2.62
/X 3.54
of 456

Question ID : 5459275898




Q.2 HsoM Ua fAffa g @ 6 fFft g &t o1 strar 1 R ag a1 ok gt & are 2 f6. . ofir siren
&1 ag g: Y ok Hgar & aur 3 fh. . strar @1 ofa & ag ars ok gt & arg 2 fhaft. sar @1
ag 39 fAfYa fiig @ fhah 3 (Sfef ¥ o) ik Fu Rand @2

Ans  of 1 5fnsh, afRorgd
75 2. 5fn A, efaorum
/X 3.6 M, Ry
/X 4. 4RER, =

Question ID : 5459275891

Q.3 afRRA*B*B*C=A2+B2+C2+2(AB+BC+CA) &, @ (3*4*7)=2
Ans X" 1224

o 2.1%
/X 3.138
X 4.216

Question ID : 5459275886

Q.4 f=fefae v d Ry 7y Reeat § @ usr Reg (?) & 9 W) = arelt @ &t gfAgl

30 | 25 40| 31 50 | 35
17 | 395 15| 425 19 | ?

Ans X 1585
W 2615

/X 3.675
75 4.725

Question ID : 5459275883

Q.5 & 17 anepfa A fFa qow wira 2, afde Rarfaa 78 &2

Ans X" 1.7
X 26
34
K 4.2

Question ID : 5459275889

Q.6 A Ry g usr &, AR T g Ry 1y &1 (-) & arff ok & wd T () & i ok & é e
@ foreft ach/Fram/<sia @ Hefda g1 i 3Tt uar ah/fAom/ddy & smur o a9+ €1 g g
freredt & @ faww ot gfag)

Ans




75 1.2894 - 576
/X 2.4761 - 168
/X 3.5768 - 1680

o 4.7963 - 1136

Question ID : 5459275887

Q.7 2 & usr enepfadl d REY AIHR HATST Ft AlgHR 3¢ aAT @A & 918 ag fha I arpfa
St fears &m?

~ :
H ]
ssassafesnnsns Ssamsans
: : i
H - H

Ans L

Question ID : 5459275895

Q.8 F=fafde usr & & € sjwmen d & g sis 71a Fif9Q)

4,9,28,113, 566, ?
Ans X" 11827

W 23397
/X 3.2367
75 4.3693

Question ID : 5459275879

Q.9 i Ry g us &, wR S g Ry g &1 (-) & anfi ik & 7E Twan (-) & arft ok & 7€ T
@ freft ach/Fram/<sia @ Hafda g1 i 3t uer adh/fAom/ddy & smur o a9+ €1 3 g
fRrepeat & @ faww &t gl

Ans X" 1.25-150
X 2.112-120
/< 3.38-550
o 4.125-350

[ Question ID : 5459275884




Q.10 sfayor fyam Y 31k 11 38T Ueh a=at Uget aTs 1k g1 & aut fhe o oiik gear &1 a8 o fone
Ram & smgra?

Ans X1 od
/X 2.ufgm
W 3.zfa
K 43R

Question ID : 5459275890

Q.11 =i Ht IR srrepfar ust smepfar & wfasu &l gzr wvft?

Ans

K 4

D@@@ﬂb

Question ID : 5459275893

Q.12 Fr=fafEa usr | Ry g el 7 9 H&6fda den & gfhg)

3747:1739 :: 2858 : 2
Ans X" 11824

o 21624

/X 3.1064
/X 4.2784

Question ID : 5459275880

Q.13 F=faf@a usr &, Ry 7 et 7 @ s spfar o6t gfAg)

Ans




X0l |®

A N )

Question ID : 5459275892

Q.14 2 & s enpfaal # R SIgaR F1TeT i Alsa BeA aU1 @ie ! & 1% a8 foha SR siepfa
S fears m?

= .rh- |n:1n|

Ans — U U
A AR

Lv VG
L n_nn_|

U U
dA AD

gAa VR
_n_n_|

[ U]
gAa AD

gV vl

gA AR

gav vk
L n_nn_|

Question ID : 5459275897

Q.15 F=faf@a usr # Ry 7o fReeal 7 9 H&6fa g w ghgl

234:99::345:?
Ans X 1263

X 2.216
X 3116




o 450

Question ID : 5459275881

Q.16 Tfe ‘W’ @t a1ef ‘<, ‘X’ hr 31ef '+, 'Y apr off '~ qUuT‘'Z R 3f '+ @, AW 12Z7Y28X4Z 2=

Ans

?

X 1.60
/< 2.56
o 3.50
/X 4.46

Question ID : 5459275885

Q.17 (::) & arff oz &t A <} srrepfarat freht adh/FPamy/ddy @ weifda 81 R M R @ (1) &
Y SR T adh/ Fram/sisy wR SmeTRa o stepfa A gfAa

Ans

@ . ||&

oo
o0

X
SE)

Question ID : 5459275894

Q.18 ag 1R gAY Sit 12 g g it & offa o Haier a1 9t fAweuor shear 81

Ans

asfi=, Atarse,

X @
x| (@
x:[(©)o




Question ID : 5459275888

Q.19 Fr=fafEa usr | Ry g el 7 9 ust g (?) & U wR o1  aret S= &t gfAgl

7 6 4
[ 3 J147] 5| [of247]11] [12] 7
8 3 5

Ans X' 1 148
o 2189
/X 3.255
/X 4.163

=
b

Question ID : 5459275882

Q.20 iR & s srrepfaal & RETg AR FRTT ol Alsa B U1 @ie & 1% ag fry IR i

Star fears 3mm?

...... N |

FEessssegssssaanaa
= H .

Baassann

Ans ve oV
oA AG

PSR | B |
GA VO

Vo GA

vo oV

oA AO
<210 1
47 AG

Ad S A

Vo oV

oA AO
vl
¢V va

Ad ©A

vo oV

oA AO
A4l 1
oV Vo

AG ©A

Question ID : 5459275896

Section : General Awareness1

Q.1 hrEht 78 A & @ fohe ToT @ gl Jget @2
Ans X 1_::[31ng

75 2. mE

X3.zrawm




o 4 fEr

Question ID : 5459275914

Q.2

Ans

Srfegaear # STYRYH o & ©ieh ol T/ ge & foIY 311 ST hl/F TRAN
afagferal f @/ e a=ar a/a=a & |

K1 Redw

/X 2. arior de

o 3. o Red @
X 48R

Question ID : 5459275905

Q.3
Ans

S T i 1 FRe ofist & aeeran 82
75 1. siey
/X 2. R
75 3. affem

y' 4. IS

Question ID : 5459275910

Q.4
Ans

eenT foRd TS A e 82
o 1. R
X 2.Fma
/< 3. 7w
X 4. e

Question ID : 5459275918

Q.5
Ans

R ST oh dgd 31T dTet &t g h hR i A 872
o 1. e ok s AR

X 2. 308 qn e
75 3. R ok mfaisfier o

7X 4. Tecayt ok e o

Question ID : 5459275903

Q.6
Ans

S aigr____ digei 81
X 1. e
o 2
/X 3. g 3R e
X 4. o

Question ID : 5459275902

Q.7
Ans

e wafig R e =9 @ it 27
X 1. wyeh




/X 2. Hifeheren
o 3. sraTe

X 4 R

Question ID : 5459275901

Q.8 19 3 fae1aA ol &Rk faera= & a1 AT s1rar €, 9t siffiferar & araw= wR e yre ugan
8?7

Ans X 1. 1 uRada el
X 2. g
X 3. ah e

W 2 e

Question ID : 5459275907

Q.9 A & HIfNhT Tech RN T rafArsg gt fAwr= &= 82
Ans  of 1 csEEm

X 2 wfes

7% 3. argdegar

7K 4. Tifesht JuaRor

Question ID : 5459275911

Q.10 &=ifrgw Ra= &) arit & 9o R ag ek a1 ueref a=rar @1 39 A= faeeal 7 @ ugar
Ans  of 1 Mg(OH),

X 2.Mgo,

75 3.Mgo

75 4.Mg(CO) 3

Question ID : 5459275906

Q.11 A4 R &1 R T Fdeh G971 ! T Hdr 8?2

Ans  of 1 gurT was
/X 2. 3UR ek
75 3. IuheT e
/X 4. qR3eR

Question ID : 5459275913

Q.12 9 yar &t @it 7§ fsft fm i Ieael & ueiwazon/ o 7 anfae g1 82
Ans X1 wrge @

o 2. s ad

75 3. e @t

7K 4. e e ST @t

Question ID : 5459275916




Q.13 fR=faf@a & @ i a1 aaer arees 872

Ans o 1 11l
X 2. e Il
/X 3. e |

X 4@

Question ID : 5459275900

Q.14 dsTE & i |1 7 fmar s 82
Ans X‘I'q'qs:i?q

X 2. =R

3.

X 4 fre

Question ID : 5459275899

Q.15 Wexrze fag Fafafaa § 9 fora wog d o s awdl 827

I. FAfesw
Il. afdeTg

. IIRE=S
Ans X1 |Gl

X 2. nar
o 3L uam
X 4@

Question ID : 5459275917

Q.16 HEHNRIY YR foh & yahR Y gt &2

1. ShISoT T YRT
I1. 2fierer | amRT

Ans X' 1 o |
W 2 1@
75 3 Fa
X aaaiarai

Question ID : 5459275915

Q.17 uRag & G Agayqui @i _____ o1 anfashR o
Ans x1m

X 2. da

3.

75 4. 7T o o




Question ID : 5459275908

Q.18 fF=faf@a & & s ar sradt nfer a1 Iargeor 18 87
Ans  off 1 v qgeadt e

X 2. Ryed mef & gg

/X 3. frerR&TarR

75 4. T gerell witeren

Question ID : 5459275909

Q.19 Fafaf@a & & w4 a1 Sfia has @/ @ 99 da1 8?2
Ans X1 i

(z.ﬁsﬂ

X 3. mweh

p R

Question ID : 5459275912

Q.20 #Hif¥e mifdeRvor, yRdT Red dF P Feadaar sl ____ swgrsan gl
Ans X" 1. 7@ srquTd

75 2 AR

/X 3. du e

o 4 emurem e

Question ID : 5459275904

Section : General Awareness2

Q.1 F=fafla 7 @ forw e 3 Reeht & arer foret & Fafor a1 s == aeamar ar?
Ans X1WQW

o 2. smeert

X 3 dRawRm

75 4. iR

Question ID : 5459275923

Q.2 = St g¥ A 2018 Sfiar wmi
Ans X1W

o 2. & Raryg

7% 3. iy azra

/X 4. W areR

Question ID : 5459275929

Q.3 hiE"AY 1 2018 & YR 7 fohat wof ueer sfia 4?

Ans




o 1.26
K 218
X 3.20
K 422

Question ID : 5459275936

Q.4 = ot fagy &u 2018 # wilee g YRERR Sftar aml
Ans X 1. Rga Aifew

X 2. wgferaT g

o 3.2

< 4. A e

Question ID : 5459275937

Q.5 WRA & Uget Aagsh siaRer A aram @1
Ans X 1. SR LT

25 2. deam

o 3. e

/X 4. e

Question ID : 5459275927

Q.6 frg d@faum "ty ifdfRme & Aregw @, 'GHISTEREY Mz &t WRedY dfdur Y e fAewr &
gfefora forar mar ar?

Ans &< 1. 36ai

o 2. 42ai
/X 3.35qf
75 4. adai

Question ID : 5459275935

Q.7 AR URAT 3T & M, et A FAfaf@a d & o= o g ot 82
Ans X 1. SreheRATHT

W 2 R

X 3 TEHgR=

75 4. vmraa

Question ID : 5459275925

Q.8 Y Yahar faw Rafaf@a @ @ fora rfeaaa & awm= d gaman sirar &2
Ans  of 1 TReR aEETE T

5 2. gum g

/X 3. < e smdeaR

7 4. wrgreH it




Question ID : 5459275931

Q.9 uRd A A< MuTdehTet Y GIYUT Rl X ehdl &2

Ans X 1 g
#< 2. Smrgafy
V 3
/X 4. yeresh

Question ID : 5459275934

Q.10 "% SHTSRA& i gy g=aeh FALBC G RIER]

Ans  off 1 e sitam
7< 2. Rt o
X 3 s
/X 4. o et

Question ID : 5459275930

Q.11 wRedg d@fRam & orgaR, Afaf@a 7 @ fora enur o= fReht off arTRer & T frve & fRFan

SITQT?

I geraar
1. sfe

Ans X1 e |
P X CHE Ell
/X 3. eIl
o 4 1@ @

Question ID : 5459275933

Q.12 g O fore af A ganeiiRa foar mam ar?
Ans X 11951

o 21932
/X 3.1942
75 4.1952

Question ID : 5459275922

Q.13 S T f@erhY A 1780 A A9 IT 3REaR UehtfAd fomar am?

Ans  off 1 zama T
/X 2. Bra-3et-eRaaR
75 3. 29 &R
X 4. i g

Question ID : 5459275924

Q.14 TS AfRAAT A1 2019 AR RERR foha=t sfiar &2

Ans




X 1. et agRe
X 2. dscht g
o 3. e
/X 4. R A

Question ID : 5459275928

Q.15 fA=fafas & & #9 a1 fRers - @« o1 gm a8 78 82
Ans X1 QR T fdhe

75 2. s Rig- R

X 3. 80 wratR

o 4 < Rig- st

Question ID : 5459275938

Q.16 St amET____ & & gor ik &idt & wwre gam
Ans x1~W

/X 2. MR

o 3. T

X 4 age

Question ID : 5459275921

Q.17 YRA FAgufd &l ______ & A1eaw | ug 9 geran I JehdT 21
Ans X1 teaR

p VR

X 3.3ru

W 2 et

Question ID : 5459275932

Q.18 Fm=faf@a & @ = @ e g5 &t RAensi @ wawnfaa gom ar
Ans  of 1 st

X 2. RfEEr
X 3. frgEr
< 4 e

Question ID : 5459275920

Q.19 = 7 @ o ft 7t wra & 7 aget 82
Ans x1;1—.ﬁ

/X 2.

o 3. 8w

X 4 T

Question ID : 5459275919




Q.20 F=fafEa # 9 fFd 2019 & Tg=h oRT FRIa & Halwa MRS T SIS Ugah & TR
forar maT 87

Ans X 1. yorg gt
75 2. rsE
W 3 A
/X 4. gum RS

Question ID : 5459275926

Section : Arithmetic Ability1

Q.1
(3.1+2.9) +(3.1-2.9) & AT F4T &7

Ans X" 13218
of 23604

/X 3.30.14
/X 4.34.14

Question ID : 5459275940

Q2 fz A=(06) +~/0.16 +~/0.0036 @ B = +/0.36 +/0.16 +~/0.0000 FT HIeT T 2
Ans  of 1 1385

X 2.168

X 3.152

X 4192

Question ID : 5459275946

Q.3 gRumTEn 129 fRusa g atag @ off sy gt ofgel
Ans X124

75 2.8

< 3.9

W 26

Question ID : 5459275942

Q.4 31 3faciteh T 3T 39 &1 UUH 14 3faeitehT 1 3ad 31 &1 3ifaw 18 sraeiter= a1 Sfitdd 45
2114 3 3raeileh= <l AT T 8?

Ans " 125
K 2,27
/X 3.33
of 435

Question ID : 5459275951




Q.5 WA Yeh R il 15 ufaera i w19 R S=ar g1 af ag 39 30 ufaea &0 g0 R @dgar 9t 520
Fu 31fdeh TR S=aT, @t I/ 70 UfARrd ST el A1 AT ST R T SRR tha T T 872

Ans X" 1.14000 3u3
75 2.16000 30
7% 3.9100 %03
o 413000 7

Question ID : 5459275957

Q.6 Tfe48Y72X, 72 @ fRAursa g, at X + Y 1A R 8?7
Ans X' 19

X 215

W 36a15

X 46

Question ID : 5459275941

Q.7 U a¥g i 499 WR T4 7 240 Fud HY Fe & af} gH a¥g o1 sifhe Fea 1200 FUR g, @t g
ufaerd o &2

Ans X 1. 10 wfasE
/X 2. 40 ufaera
o 3. 20 ofera
/X 4. 25 ufaera

Question ID : 5459275949

Q.8 U hHtaT UR 44 ufazra A e 37 & ugrd ot T afh ol 14 ufara &« gtar g1 sifdha g7a
TUT 3HY Y T ShH2M: STUTH T 8?2

Ans X' 1.28:57

/< 2.51:28
/X 3.114:51
of 4.57:28

Question ID : 5459275950

Q.9

rafET 7 ¥ sl Oy #u9 @& g
1.3
1. 22007

Ans X" 1 vt iararl
/X 2. e |
75 3. e I
v FREEEC




l Question ID : 5459275947

Q.10 afEP=2QdUTP+Q=72¢, a1 P - QR A AT &?

Ans X" 132
X 2.16
/K 3.20
o 424

Question ID : 5459275958

Q.11 Tf¥ 723Y,9 @ fawrsa &, &t Y s a9 sn &2
Ans X714

75 2.8

75 3.3

v N3

Question ID : 5459275939

Q.12 = Teh a¥g ht S=ehv 40 UFARTE 2T AT HATAT &1 Al 19 &l 3ha Jog R uReEfAd 7 ek ag
forera g7a wR uRefera e &, at e ufasa @ gim?

Ans X" 1. 14.28 ufaRra
/X 2.35ufawa
75 3. 20 ufder
of 4. 28.56 vfera

Question ID : 5459275956

Q.13 &1e & gea | 30 ufazE &t =+ g & R, Yo @afth 420 U # 6 fh.a1. e 91fde @Rig uran
21 &1l T STRINh Joa T &2

Ans X" 1. 25 wud/feam.
75 2. 20 3ud/fReam.
W 3.21 w5/fsam
75 4.30 3ud/feam.

Question ID : 5459275954

Q.14 af ge ot &t agen @t 35 gl @ geran T &, A 3 A § fhawt afdea A gf ghfi?
Ans X 1.78.25 wfasra

/< 2. 84 ufdera
75 3.70 ufazra
o 48225 ufar

Question ID : 5459275952

Q.15 Fafafea & @ & a8 Fu= a8 8/8?

1.4/7 >5/11>3/5
I.7/5>11/9 >13/7




Ans X1 e |
F A
/X 3. Faw Il
o 4 aaiara

Question ID : 5459275948

Q.16 R2A Teh Rt hl 960 FTUA H WiedT & a1 IV 576 Tud A =« g1 g1+ ufdera o 82
Ans X 1. 20 wfasE

o 2. 20 e
/< 3.33.33 ufazra
75 4.66.66 ufazra

Question ID : 5459275955

Q.17 Teh 31« hl v T =< et shust: 32 ufaerd a9t 30 ufaerd & g a7 g1 59 &5k §
fora= ufaara hY = gifi?

Ans X" 1 46.4 vl
o 2. 524 R
/X 3.48.6 ufazia
75 4.38.6ufe@

Question ID : 5459275953

Q.18 A i siep! it ¥t o BT T & it 8 aUT 12 Ao St uR AW shHLT: 6 dUT 10 At
21 B & 3iehl il ag 9o 9 TEar g St 7 aur 8 ST @ fAawrsa g1 A + B ST A R @?

Ans X" 1172
X 2.168
/X 3.180
of 4174

Question ID : 5459275944

Q.19 107 @477 A fFa-i g g starai 2 @ ar a1 5 @ R_Ausa @2
Ans  of 1 149

X 2,151

/X 3.147

/X 4.153

Question ID : 5459275943

Q.20
e talel ppe Lol ol s
15 35 63 56 42 30

Ans X" 1.39/170

o 2.67/360

75 3.47/310




75 4.61/340

Question ID : 5459275945

Section : Arithmetic Ability2

Q.1 A & mht aifore Rfvs geul grr s i w=ht staet fr e g @

qoy | el @ JEar
Gl 120
G2 138
G3 156
G4 128
G5 176

G5 ZR1 51 it Y Fia«t hY TEar G1 R 5T A T aet Y S fhaa ufaera @2
Ans X" 1. 66.66 Ui

75 2.26.66 ufazia
o 3. 46.66 vfier
/X 4.6.66 ufazia

Question ID : 5459275974

Q.2 YRS Qe i ot 60 T & o TepdT § aUT 3i2Mteh St i ol 20 =T & o TepaT 81 9 FRf Y
TIY AT R T §, U YR hid 3R g1 & 12 37 ugpra ordf Sisa g« siar g1 9w
& it SiteR srehet fohermt et & oRT aRdem?

Ans X" 1 6 fem
75 2.3fA
W 34fF
75 4.5fa

Question ID : 5459275967

Q.3 U I it wifey 108 k.t /et @1 af It i wwars 420 Hier g, &t ag v @ & @RI uR
e ® fohaar gwg «fi?

Ans  of 1 143@0s
/X 2.18 dmwve
/< 3.15 a0
/X 4.12 dve

Question ID : 5459275964

Q.4 U 31 UTg & e i Pwar 14 S+t g1 afe 39 freemax 3.5 .41, B are sk Ma a9 g
ST, Y B Mt fohas ure g2

Ans X 1.36
X 2.52
75 3.40




of 464

Question ID : 5459275970

Q.5 U A1 Y nifer R & Srgepet 40 foh.H./eier & aun awr iy wfy 15 Rt /der &1 o & g
240 f5.3ft. Tun a1 & ufdge 110 .. T aa Fz=t J 19 gR1 et fove=n ww7 foram sRm?

Ans o 1 17
K o2.218
K 3128
X 4238

Question ID : 5459275965

Q.6 3 31het Uk T i 16 R F qR1 e TepaT 81 AT Sichet 1 % ohea & dAferT 11 R ugma
Frf BYs a1 81 af A srhet = gon & 15 R @ gy o= g, at A srdhet R @t it foert
R & g1 R Fehe &2

Ans X" 1 24fF
75 2.40fA

W 3.48R=

75 4.34%

Question ID : 5459275968

Q.7 35000 U ht 12 ufaerd ufer aef 6 &= | @ siar 81 2 avf & Tehqfe suTsT TUT JIeRT TSt
ohT 3icR T 87

Ans  of 1 50403
X 2. 416 353
7< 3.608 %
/X 4.576 30

Question ID : 5459275963

Q.8 = R man gus R # gok ghrER gRT AfY= dufaat & &= g gt H d@wean @t gafdar g

70 52
60 54 38
E 01 4
F a0
£ a0
fE 20
10
0+
Cl c2 3 c4
AT

GEHMER ZRT 33 T2 uat Y et Teean o @2
Ans X" 1220

75 2.216
o 3214
/< 4.218




l Question ID : 5459275976

Q.9 Mr.XaUTMr. Y3 Qh AR A 5 : 8 & srgura | Yol fAa=r il Mr. X 3 16 #gH & forg fAdar
a1 afd Mr. X @t Mr. Y &Y 1 : 2 3 argara & @197 Ored g @, af Mr. Y 3 fare=t widi=i & farg

Ans

Frder forar ghm?
X 1,240
o 2. 207

/X 3.26mE

/< 4184

Question ID : 5459275960

Q.10 = & wht anferant gt & fafra =1 ur 3= w3 St il STt < S @t gaidt @

Ans

Ra | s & goa & wew
DI 184
D2 192
D3 198
D4 214
D5 234
D6 252
D7 268

W 1.22028
/X 2.218.28
/X 3.212.28

/X 4.224.28

Question ID : 5459275973

Q.11 = ez war Y@ e fafas g e & anfae afgersi 6 dwear &) serfar 1

Ans

i « N
5{'.
|
% 30, 2%
ﬁ:{l-
¥
0 T T T T )
Y1 YZ Y3 Y4 Y5
TR FE

Y5 & snfer afgarai &t dwean Y1 aur Y4 § anfiret e afgen @ e ufdera &q 82

o 1.28.57 vfar
/X 2.24.57 ufazia
/< 3.16.57 ufazra
75 4.20.57 ufazra

Question ID : 5459275977

Q.12




&Y HafAehT UTSq Teh &k ki shA2T: 50 e auT 100 AFe & R Tehd &1 Tk R Uz & 3
ez ufar fAsre et o genar &1 af it ursal &) @ie far w1, |t &6 40 e & rr R
SITQETT | &k i erHdr T 82

Ans X" 1450 efiex
o 2. 600z
/X 3.200 R
/5 4.500 3R

Question ID : 5459275969

Q.13 af¥x = (3/4)yaury = (2/3)z g, dtx:y: zRT§?
Ans X' 1.6:4:3

X2.2:4:1

K 31:4:2

1346

Question ID : 5459275959

Q.14 = fear man ¥ R gu & fafva ReT v g e R mreTa ardfore i T ot gifar
gl

[
=

33 35

wfea r waar
w B

=1

DI D2 D3 D4 DS
=

D1 # wRwa Y it arsfere & Tz, D5 A e Y wft iRt i dear @ foraen ufase
FH?

Ans X 1.20.38 ufasE
75 2.2538 ufdera
75 3.10.38 ufazra
o 41538 ufer

Question ID : 5459275978

Q.15 wifRa aur G geh gaR & 320 Hiex o & aur g wifga @ omt 81 3 &1 g & Rean A s <@
g1 Aifga, gfa =) 80 Arve A ushs Aar g1 afE gfa Y nfa 36 fs. . /eer g, @t mifga R ofa
T g?

Ans X" 1,190 foh.eft /eier
/5 2.160 6. /ser
o 3. 180 frsft /der
75 4.150 6. /efer

Question ID : 5459275966




Q.16 Qeh aif GUT ST T el SRTER ¢ | STRI Y TFams ot i 3o & 15 |7, 31fk & aun Iah

Ans

<ters of i oo @ 5 .. FH 1 M w1 Shet T &2
X 1.51.75 QAN
X 2 4875 A2

V'3 5675 A2
X 4585 @A

Question ID : 5459275972

Q.17 = R war v R srawr) # faf= T & Syl Y Hean &t q21far &1 e &l srewRt 7 At

Ans

Y FpeT TeT oh ufaRrd & &9 | g21far T gl

TS T o S[Al ZIRT ST 7T Shehld 10T oFT 8?2
X 1.30°
o 236
X 316
K o424

Question ID : 5459275975

Q.18 25000 FUA ! TAshqfeg =aTeT (anfifer TaterT) UR I@T ST &1 afe =aret Y &% 8 ufaera ufer af g,

Ans

at 2 o k1 =TSt T 82
o 1. 41607
75 2.4480 7@
/X 3.4360 30
75 44280 3@

Question ID : 5459275962

Q.19 ek Y=RIfY STd ATYRUT 4TSI UR I& Sirefl @ ot ag 3 af & 6800 Fud qur 5 adf & 8000 vud gt

Ans

Sireht &1 ufa af surer A g R @2
o 1. 120fEa
X 2.1 ufawr
75 3. 16 ufazra
75 4. 14 vz

Question ID : 5459275961

Q.20 T et ol FAEATeRR Qe a1 aaTa T fSaeht Fard Iuht Bear i 1/6 &1 afe mia fit Bsar 6




.+t &, at do= Hr BT @2
Ans X1 g@H
75 214394

of 31235

X 410,

Question ID : 5459275971

Section : General English1

Q.1 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error'.

Radha (1) / refuse to go (2) / to the party yesterday (3) /. No error (4)

Ans  of 12
X 2.4
X 31
X 43

Question ID : 5459275979

Q.2 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

They were stupid forget the ID cards.

Ans X1 of
J 2.to
/X 3. with
75 4.in

Question ID : 5459275995

Q.3 Improve the bracketed part of the sentence.

Due to emergency conditions, the army was asked to stand (up).

Ans J 1. by
x 2. out
/X 3.in

X 4. No Improvement

Question ID : 5459275986

Q.4 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

Not only Sanya / (1) and also Sam (2) / has failed the examination (3) /. No error (4)

Ans X" 1.3
K 2.4
32




X 4

Question ID : 5459275983

Q.5 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

Sarthak

Ans J 1. won
X 2. win
x 3. wins

X 4. have won

the first prize in yesterday's race.

Question ID : 5459275989

Q.6 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error'.

I shall (1) / be late for (2) today meeting (3) /. No error (4)

Ans  of 13
K 2.2
X 31
X 44

Question ID : 5459275980

Q.7 The question below consists of a set of labeled sentences. Out of the four options given,
select the most logical order of the sentences to form a coherent paragraph.

P: because our school had shown

R: last Wednesday,

Q: our headmaster gave us a holiday

S: brilliant results in the High School Examination

Ans X" 1 QSRP
/5 2.PQRS
/X 3.PSRQ
o 4 Rraps

Question ID : 5459275997

Q.8 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

It needs to be with great care.

Ans  of 1 done
X 2.do
75 3.did
X 4. doing

Question ID : 5459275993

Q.9 The question below consists of a set of labeled sentences. Out of the four options given,
select the most logical order of the sentences to form a coherent paragraph.




P: deal of noise and in the

Q: confusion | could hardly

R: make out the cause of quarrel
S: the people were making a great

Ans X' 1 SRQP
o 2 sPar
75 3.SPRQ
/5 4.PQRS

Question ID : 5459275998

Q.10 Improve the bracketed part of the sentence.

(Since) he got home last night is still a mystery to me.
Ans x 1. Although

W 2 How

x 3. No Improvement

75 4. While

Question ID : 5459275984

Q.11 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

One should (1) / fulfil one’s (2) / promises (3) / No error (4)

Ans X1_2
W24
< 3.1
X 4.3

Question ID : 5459275981

Q.12 Improve the bracketed part of the sentence.

She hurt her back while she (worked) yesterday.
Ans X" 1. had worked

x 2. No Improvement
x 3. worked out

J 4. was working

Question ID : 5459275987

Q.13 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

She told her dentist to take the bad tooth.
Ans x 1. along

x 2. over
X 3.up
J 4. out

[ Question ID : 5459275991




Q.14 Improve the bracketed part of the sentence.

The police filed a case (to) the car driver for wrong parking.

Ans x 1. No Improvement

x 2. for
X 3. by
J 4. against

Question ID : 5459275988

Q.15 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

Sam is not in a mood
Ans X 1. with

JZ. of
x& in
X4.to

studying.

Question ID : 5459275990

Q.16 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

Till the end (1) / of June my (2) / results will be out (3) /. No error

Ans X 13
W 21
X 3.4
542

Question ID : 5459275982

Q.17 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

She dare not the child.
Ans x 1. punishes

x 2. punishing
X 3. punished

J 4. punish

Question ID : 5459275996

Q.18 Improve the bracketed part of the sentence.

He denied that he (had not forged) my signature.
Ans X" 1_did not forge

X 2. No Improvement
J 3. had forged

X 4. forged




Question ID : 5459275985

Q.19 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

This work needs time patience.

Ans J 1.and
x 2. but

x 3. because

x 4. also

Question ID : 5459275992

Q.20 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

It is impossible to
Ans X" 1 lived

( 2. live
x 3. lives
x 4. living

without air.

Question ID : 5459275994

Section : General English2

Q.1 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

For good
Ans x 1. Completely

x 2. Deliberately

J 3. Forever

x 4. A secret

Question ID : 5459276009

Q.2 Choose the word that is opposite in meaning to the given word.

Separate
Ans X" 1 Apart

J 2. Conjoin
x 3. Part
/< 4. Divided

Question ID : 5459276000

Q.3 Choose the word that is opposite in meaning to the given word.

Quarrel
Ans




x 1. Dissension
o 2. Accord
x 3. Believe
/X 4. strife

Question ID : 5459276004

Q.4 In the given question, four words are given out of which one word is correctly spelt. Choose
the correctly spelt word.

Ans X" 1. Calander
x 2. Kalendar
x 3. Calender

J 4. Calendar

Question ID : 5459276006

Q.5 In the given question, four words are given out of which one word is correctly spelt. Choose
the correctly spelt word.

Ans X" 1. Ocurrence
x 2. Occurrance
x 3. Occurence

J 4. Occurrence

Question ID : 5459276005

Q.6 Choose the word that means the same as the given word.

Condemn
Ans J 1. Blame

75 2. Abolish
X 3. Grow
x 4. Praise

Question ID : 5459276002

Q.7 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

At the eleventh hour
Ans x 1. Upright
x 2. Familiar with

x 3. Never

J 4. At the very last moment

Question ID : 5459276008

Q.8 Choose the word that can substitute the given sentence.

Government not connected with religious or spiritual matters.
Ans x 1. Theocracy




x 2. Anarchy

X 3. Democracy

J 4. Secular

Question ID : 5459276012

Q.9 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

Ins and outs

Ans ( 1. The details of anything
/X 2. valid
x 3. Approximately

x 4. Owing to

Question ID : 5459276010

Q.10 Choose the word that means the same as the given word.

Disclaim
Ans x 1. Spend

J 2. Repudiate
x 3. Defray
x 4. Follow

Question ID : 5459276003

Q.11 Choose the word that can substitute the given sentence.

A place where bodies are kept for identification
Ans X" 1. Sanatorium

X 2. Hospital
J 3. Morgue

X 4. Crematory

Question ID : 5459276011

Q.12 In the given question, four words are given out of which one word is correctly spelt. Choose
the correctly spelt word.

Ans X 1. Athiest

X 2. Atheast

J 3. Atheist
75 4. Etheist

Question ID : 5459276007

Q.13 The question below consists of a set of labeled sentences. Out of the four options given,
select the most logical order of the sentences to form a coherent paragraph.

P: but a closer analysis would reveal that adversity has its own advantages.
Q: everybody wants to live in joy, peace and plenty.




Ans

R: nobody wants to fall in the grip of adversity.
S: normally adversity is a dreaded thing.

/5 1.QRSP
o 2. srRaP
/5 3.PQRS
75 4.SQRP

Question ID : 5459275999

Q.14 Choose the word that can substitute the given sentence.

Ans

Destruction or abortion of a fetus.
75 1.Filicide
« 2. Foeticide

x 3. Cortege
x 4. Fratricide

Question ID : 5459276013

Q.15

Ans

Choose the word that means the same as the given word.

Alien

« 1. Foreigner
x 2. Known
x 3. Native

x 4. Companion

Question ID : 5459276001

Q.16

Ans

Comprehension:

Read the following information carefully and answer the given questions.

The first American stock exchange originated in 1792 when 24 brokers wrote and signed the
Buttonwood Tree Agreement. The agreement was drafted in response to the lack of
organization that plagued the colonial economy. It was the first attempt to regulate the
American market. The futures or commodities exchange was a separate trading platform that
emerged from the need for regulated trading practices in agricultural communities. This
market would not be standardized until 1848 when the Chicago Board of Trade was founded.
The futures market facilitates the trade of contract agreements that guarantee the buyer a
price for future delivery of goods. Although in many ways, the futures market was more stable
than the stock market, early investors were more skeptical of the futures market primarily
because it was a ripe environment for speculators to trade and sell. In the 19th century,
investors looked down on futures traders, viewing them as market manipulators, who
engaged in wanton speculation. These investors did not realize that similar criticisms were
levied against the stock market when it was first established in the United States.

At the stock market's inception, wild speculation and price gouging ran rampant in the US
economy. Ironically, the early agrarian futures contracts were crucial in maintaining the
stability of the US market economy and were specifically designed to reduce the risk for
producers. In fact, the very speculators who were so feared by 19th-century investors actually
made the market more efficient and kept prices stable. Futures contracts were standardized
as to the quantity, quality, location and time of delivery for each commodity that was bought
or sold. Both the standardized nature of futures contracts and the haggling over price by
speculators, investment risk, guaranteed that the futures contracts would be bought and sold
at fair prices. It was only in the 20th century that investors began to understand how the
standard mechanisms of the futures markets could also serve the stock market.

SubQuestion No : 16

Which of the following generalizations regarding trading platforms would the author most
likely agree?




( 1. Modern trading platforms do not differ greatly from early trading platforms

x 2. Some trading platforms were established in order to standardise national trading
practices

K 3. The most stable trading platforms are those that trade contracts instead of stocks

x 4. No option is correct

Question ID : 5459276016

Comprehension:

Read the following information carefully and answer the given questions.

The first American stock exchange originated in 1792 when 24 brokers wrote and signed the
Buttonwood Tree Agreement. The agreement was drafted in response to the lack of
organization that plagued the colonial economy. It was the first attempt to regulate the
American market. The futures or commodities exchange was a separate trading platform that
emerged from the need for regulated trading practices in agricultural communities. This
market would not be standardized until 1848 when the Chicago Board of Trade was founded.
The futures market facilitates the trade of contract agreements that guarantee the buyer a
price for future delivery of goods. Although in many ways, the futures market was more stable
than the stock market, early investors were more skeptical of the futures market primarily
because it was a ripe environment for speculators to trade and sell. In the 19th century,
investors looked down on futures traders, viewing them as market manipulators, who
engaged in wanton speculation. These investors did not realize that similar criticisms were
levied against the stock market when it was first established in the United States.

At the stock market's inception, wild speculation and price gouging ran rampant in the US
economy. Ironically, the early agrarian futures contracts were crucial in maintaining the
stability of the US market economy and were specifically designed to reduce the risk for
producers. In fact, the very speculators who were so feared by 19th-century investors actually
made the market more efficient and kept prices stable. Futures contracts were standardized
as to the quantity, quality, location and time of delivery for each commodity that was bought
or sold. Both the standardized nature of futures contracts and the haggling over price by
speculators, investment risk, guaranteed that the futures contracts would be bought and sold
at fair prices. It was only in the 20th century that investors began to understand how the
standard mechanisms of the futures markets could also serve the stock market.

SubQuestion No : 17
Q.17 Which of the following best states the main point of the passage?

Ans x 1. The trading mechanisms of the future market are fundamentally the same as those
of the stock market

I 2. The US future market, whose procedures early investors distrusted, actually
promoted economic stability

x 3. The creation of the stock market in the 18th century provided a model for the
emergence of the futures market

K 4. The success of the futures market like that of the stock market, depended on its
ability to prevent speculation

Question ID : 5459276018

Comprehension:
Read the following information carefully and answer the given questions.

The first American stock exchange originated in 1792 when 24 brokers wrote and signed the
Buttonwood Tree Agreement. The agreement was drafted in response to the lack of
organization that plagued the colonial economy. It was the first attempt to regulate the
American market. The futures or commodities exchange was a separate trading platform that
emerged from the need for regulated trading practices in agricultural communities. This
market would not be standardized until 1848 when the Chicago Board of Trade was founded.
The futures market facilitates the trade of contract agreements that guarantee the buyer a
price for future delivery of goods. Although in many ways, the futures market was more stable
than the stock market, early investors were more skeptical of the futures market primarily
because it was a ripe environment for speculators to trade and sell. In the 19th century,
investors looked down on futures traders, viewing them as market manipulators, who
engaged in wanton speculation. These investors did not realize that similar criticisms were
levied against the stock market when it was first established in the United States.

At the stock market's inception, wild speculation and price gouging ran rampant in the US
economy. Ironically, the early agrarian futures contracts were crucial in maintaining the




stability of the US market economy and were specifically designed to reduce the risk for
producers. In fact, the very speculators who were so feared by 19th-century investors actually
made the market more efficient and kept prices stable. Futures contracts were standardized
as to the quantity, quality, location and time of delivery for each commodity that was bought
or sold. Both the standardized nature of futures contracts and the haggling over price by
speculators, investment risk, guaranteed that the futures contracts would be bought and sold
at fair prices. It was only in the 20th century that investors began to understand how the
standard mechanisms of the futures markets could also serve the stock market.

SubQuestion No : 18
Q.18 Which of the following statement is false regarding future contracts?

Ans K 1. These incur investment risk
( 2. No option is correct

K 3. It is standardized as to the quality, quantity, location and time of delivery of each
commodities

x 4. Itis concerned with both the bought and sold of the items

Question ID : 5459276019

Comprehension:
Read the following information carefully and answer the given questions.

The first American stock exchange originated in 1792 when 24 brokers wrote and signed the
Buttonwood Tree Agreement. The agreement was drafted in response to the lack of
organization that plagued the colonial economy. It was the first attempt to regulate the
American market. The futures or commodities exchange was a separate trading platform that
emerged from the need for regulated trading practices in agricultural communities. This
market would not be standardized until 1848 when the Chicago Board of Trade was founded.
The futures market facilitates the trade of contract agreements that guarantee the buyer a
price for future delivery of goods. Although in many ways, the futures market was more stable
than the stock market, early investors were more skeptical of the futures market primarily
because it was a ripe environment for speculators to trade and sell. In the 19th century,
investors looked down on futures traders, viewing them as market manipulators, who
engaged in wanton speculation. These investors did not realize that similar criticisms were
levied against the stock market when it was first established in the United States.

At the stock market's inception, wild speculation and price gouging ran rampant in the US
economy. Ironically, the early agrarian futures contracts were crucial in maintaining the
stability of the US market economy and were specifically designed to reduce the risk for
producers. In fact, the very speculators who were so feared by 19th-century investors actually
made the market more efficient and kept prices stable. Futures contracts were standardized
as to the quantity, quality, location and time of delivery for each commodity that was bought
or sold. Both the standardized nature of futures contracts and the haggling over price by
speculators, investment risk, guaranteed that the futures contracts would be bought and sold
at fair prices. It was only in the 20th century that investors began to understand how the
standard mechanisms of the futures markets could also serve the stock market.

SubQuestion No : 19
Q.19 Choose a word from the passage which means the same as originated

Ans X' 1. Engaged
x 2. Regulated
x 3. Agrarian
\f 4. Emerged

Question ID : 5459276015

Comprehension:
Read the following information carefully and answer the given questions.

The first American stock exchange originated in 1792 when 24 brokers wrote and signed the
Buttonwood Tree Agreement. The agreement was drafted in response to the lack of
organization that plagued the colonial economy. It was the first attempt to regulate the
American market. The futures or commodities exchange was a separate trading platform that
emerged from the need for regulated trading practices in agricultural communities. This
market would not be standardized until 1848 when the Chicago Board of Trade was founded.
The futures market facilitates the trade of contract agreements that guarantee the buyer a




price for future delivery of goods. Although in many ways, the futures market was more stable
than the stock market, early investors were more skeptical of the futures market primarily
because it was a ripe environment for speculators to trade and sell. In the 19th century,
investors looked down on futures traders, viewing them as market manipulators, who
engaged in wanton speculation. These investors did not realize that similar criticisms were
levied against the stock market when it was first established in the United States.

At the stock market's inception, wild speculation and price gouging ran rampant in the US
economy. Ironically, the early agrarian futures contracts were crucial in maintaining the
stability of the US market economy and were specifically designed to reduce the risk for
producers. In fact, the very speculators who were so feared by 19th-century investors actually
made the market more efficient and kept prices stable. Futures contracts were standardized
as to the quantity, quality, location and time of delivery for each commodity that was bought
or sold. Both the standardized nature of futures contracts and the haggling over price by
speculators, investment risk, guaranteed that the futures contracts would be bought and sold
at fair prices. It was only in the 20th century that investors began to understand how the
standard mechanisms of the futures markets could also serve the stock market.

SubQuestion No : 20
Q.20 The author discusses early agrarian future contracts in order to

Ans ( 1. Refute the view that speculation compromised the stability and integrity of the
futures market

x 2. Support the argument that standard mechanisms of futures trading can be applied
to the stock market

x 3. Emphasize the importance of speculation to the stability of the US market economy

X 4. lllustrate how these contracts contributed to the effectiveness of speculative trading
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Comprehension:

Tep TTIiST T T &1 iR & SR UR uta we oy 7T 1 eI Y eagdeh U T Uk UM H R
et § @ Tg) faened g1
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FTAToI URORTSH qT ASTifceh URac1 & ot srge deier IgT &1 T i © et 31T T ARG T3l 3R
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Comprehension:
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& Tfd TR TRt i STUR SIGT &1 I8 I7ch GE@-g@ ht areft It &1 7T Gl R <h Wikepfah, &1fifch @
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Q.18

Ans

Comprehension:
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& Tfd TR TRt i STUR AIGT &1 T8 I7ch GE@-g@ ht areft It &1 T &l R hl Wikepfah, &Mfiieh @
rATfSTeR URuRTST 2T IrsT=tfdes TfRad-1 & oft srge Teter 381 81 T 7T & Teft o Y@t YRR Gagdn ok
TRfT T Uelieh &1 321 3 SHfehaR ufad T 31 & foh R 99 8 — gRaR, wam, aneft, stk anfe &
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Q.19
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Comprehension:
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l Question ID : 5459276056

Comprehension:
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rATfSTeR URORTST T IeTifdes UfRad-1 & +ft srge Teter 3gT &1 T 7T & Tt 3T Y@t 9RAR G ok
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